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nemo(u,v):=abscisse(u)*ordonnee(v)-abscisse(v)*ordonnee(u)

(u,v)->abscisse(u)*ordonnee(v)-abscisse(v)*ordonnee(u)

A:=point(-3/2,2);B:=point(1,-2);C:=point(3,1/2) l

[point(-3/2,2),point(1,-2),point(3,1/2)]

D:=point(resoudre(vecteur(C,A)=vecteur(B,point(x,y)),[X,y])[0]) l

Ipoint(-7/2,-1/2)

M:=point(resoudre(vecteur(A,point(x,y))=(2/3)*vecteur(A,C),[X,y] )[(,)]l

Ipoint(3/2,1)

E:=point(resoudre(vecteur(D,M)=vecteur(M,point(x,y)),[x,y])[0]) l

|point(13/2,5/2)

B symetrie(M,D)
point(13/2,5/2)
N:=point(resoudre(vecteur(B,E)=2*vecteur(B,point(x,y)),[x,y])[0])

point(15/4,1/4)

B milieu(B,E)
point(15/4,1/4)

ﬂ nemo(vecteur(A,C),vecteur(A,N))

yp:=resoudre(nemo(vecteur(D,M),vecteur(D,point(4,y)))=0,y)[0]
|7/4

P:=point(4,yp)
|point(4,7/4)

droite(D,M)

droite(A,C)
jroite(y=(1/3x+3i2) |
m couleur(quadrilatere(A,C,B,D),bleu+epaisseur_ligne_3)
polygone(point(-3/2,2),point(3,1/2),point(l,-2),point(-7/2,-1/2),poi
lcjuleur(segment(B.E),vert) l l

segment(point(1,-2),point(13/2,5/2)) '

resoudre(nemo(vecteur(A,C),vecteur(A,point(x,y))),y) l




